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PIL  &12f7, lim ™2 =0
P16. 1 8 1T, &A™ N

el

1
P29. 13O 51T &an=,
P(fGU)=5)="-----

P35. f1.2.5% L

ToPoo + T1P10 = To,

TopPo1 * mip11 = 7.
P37. A8/T, mil u mpi; 1 =mA/(\+1).

€13 ~ 4T, TH “KHiF B A ., BREN m.”
. P72. 4717,
P(B|C) = P(Xpir Z 6,1 <7 <0 — 15 Xy | X = 4)
P73. A= (1.5.4) 1 17,
P(o;=x) >0 P(V; < x) =1« E;V; < o0.

P78. SJ/8i1(1). * C CD.
P109. >J#9(2), p(a) = e“(pe *+ 1 — p).
P121. HIWifT. d, = 3. 7, =d,/508, Thx5§ = 1/254, 01fi ET = 1/my =
508/3.
P129. 3. {E; Y7 !t lex,—jq:j € S}
P133. 1647, A, = {(j,k) : k € S}.
P173. #1£2.2.6. iIF=21217, €2& n>1,d(. £,) <n. u~ ..
P189. I3, ¢ = —(\ + p).
P214. - 312t X, X, X1, X, 5H X, X,, X3, X,.
P217. - @i3.2.8 l&L21T, “~ d 4EIESTHERE,”
P222. S1f3 (2) E(B? — 3sB.|B; = ).
P234. A1747. <2Py(M, > x) - - -
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P236. 147, 1/(7+/s(t — s))
P238.

C,:={t>0:B=0 [ 3§>0, % B,#0,Vsc(—0s0}

P239. W3, (N - f53.4.7)
P241. FCiib

a<z<b {B:t>0}" 0 zilik HEEBA.
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P248. 1. 5~ 7 17T.
42FV(2) + 2dF'(2) = 42G'(2) + 2dG(2).
d 99 EB:Q D |j\j ......

2:GY2) +dG(2) =0, Vz e (2, R?).

P250. 1 2 ~ 5 {T.
h(x), y<ax<z
P(x) = ?h(y), 0<z<y;

—h(2), 2 <2<,

Hrp h(z)=—2?+ax+b,a UbNAVHEE.
P251. >Jfi4. 7:=inf{t > 0:| B, =1}.

P254. 1 8 1T.
b {B:t>0} " MHIEA, a #0.

P258. 1 6 ~ 7 1T.

n 1
thi(Bti+l - Btz) L—2> XT, YT Z 0.
=0

da, hodall x, PX [ f,dB.



